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PU-FrE EEE T-25 TRYLS T hEE - N
& BB AL 5% (S )
= I \Eﬁ*/
o fon ~2vhY-F
b= 18-8-25B8
h 8 LI+
18-8-408BB
500 e
RC-40
STiEER B4 omm
% W H
3004300 445
300%400 545
XtOEF TEHAERAE BERK) $8,
% iR TN & it E R HE B @ E
B i 4 B {8 78 | itk A 10.0/2 =| 5.0 * 2m/K
B300-H500 450kg /A&
1vh Y-+ &E |NIE300447 EEA|— =l — | % AiEET £
EZ 280 T 47
h L-Fv4h° 2 [1-25. MIE300547° . L=50cm |— = — [ & R
ITMIE IRYLUED
1yn" -+avy1)-1+|18-8-25BB — =l — | m3 Ali&EET £
¥Lavyy-1|18-8-40BB 0. 50%0. 1%10. 0*1. 06 =| 0.5 m3
BB (HLER 0. 1%10. 0%2 — 2.0
m2
H B # [RC-40.t=15cm 0. 50%10. 0%0. 15%1. 2 =| 0.9 m3
X m@mEHE 0.50%10.0 =| 5.0

m2




AN =pavhy-t

hI-+E BIER 300R

Y- E ERE 1-25 1A E
. S QR AR (WA
/
%
[ T S R
PP — e e
= 18-8-2568
oF
= N
N\ Lt
. 18-8-4088
500 N EEunE
Sim% B
E H
300+400 545
300500 645 BEHRAOEAE EHE
KO [aERNE RME) S8, L1100 =128
L=49.4m
[ L=4.5m - L=7.0m = L=18.3m L=l Tm L=4.5m L=9.9m . L=3.5m _‘
¥ 3| 3 g S = g .
51 V106.843
'vvoa 810 /vms 830 V106. 850 /v‘ms 846 v106.843 7106.836 v106.800 ibh:i5
| VA T g 1z A i’} VAl _ e
g - 2| = A |2 < 2 " 3
( i i g 3 |5/ (g F L’
&t < B g |z sl =l g |2
2l = 2, P s ﬂiw ¥4
A d Vo
\ v106.321 v106.328 \7106.338 V106,351 V106366 V108,369 V106,391 v106. 396
DL=105. 00 B HRHE  300x500 BEDEMA 300400 DL=105. 00
L=20. Om L1=29.4m

X

i E A

3
]

B

BHaECAE B300
No.2+68. 5~No.3+17. 9 (%)

Aun =bavhy-+
H1 (0.156+0. 143) /2=0. 150m
H2 (0.143+0.133)/2=0.138m
H3 (0.133+0.150) /2=0.142m
H4 (0. 050+0. 068) /2=0. 059m
H5 (0.068+0.078)/2=0.073m
H6 (0.078+0.136)/2=0.107m
H7 (0.136+0. 150) /2=0. 143m

(0. 150%4. 5+0. 138+7. 0+0. 142+8. 5+0. 059%9. 8+0. 073*1. 7

+0. 107%14. 4+0. 143%3.5) /49. 4=0. 11132
H=0. 113m
V=0. 30%0. 113%49. 4
=1.675m3
OX#E 1.06

V=1.675%1.06
=1.8m3

1.8

m3




KT
600%600

10. O AT U

Lo R
" ‘ H s BEBOKER r
L=
. . ://
830 . y etk 18 - Z?S ™ QEL L
FA i
F Jd e (1-17) WEE (2-27) MEHE
‘ ‘ 300 ‘ 300 7.‘
V106.810 = o i ‘ V106.810
’:ﬁm ‘F g g  EmEAB ‘ Ml‘l L 5
% ™ B K - & it B X ME B B ZE
£ Kk # |600%600 1.0%10.0 =|10.0 =
370kg/ %
{yn" -+avh)-+|18-8-25BB 0. 6%0. 6%0. 05%10. 0 =| 0.2 | m3
#BLavyy-+|[18-8-40BB 0.83%0. 83%0. 10%10. 0 =| 0.7 | m3
BB HLE 0. 1% (0. 715+0. 83+0. 552) %10. 0 = 2.1 | m2
H B & |[RC-40.t=15cm 0.83*0.83%10.0 =| 6.9 | m2
HmEHE 0.83%0. 83%10.0 =| 6.9

m2




UVEBIEEIR

10.0m& Y
PU1-360B
360 PU1-360B
BE/LZIL(1:3) H
L
/7
EEA
(RC-40)
360
460
£ B K - F & HoE R BWEBu B B
EmEHE 0.46x10.0 46
m?2
H B & |RC-40, t=15cm 0. 46%10. 0%0. 15%1. 2 0.8 m3
B E b4 M |1:3BB 0. 36%0. 03%10. 0 0.1 [ m3
U # {8l ;& |PU1-360B 10.0/0.6 16.7 0.6m/&




# = it g i
R No.1
REY BRL AL #BRL (RAL) BERFRE T
B R |XMEEREE E|F M| B A E|F Y|k @ E| Y E|E| T Y@
o] o] o] o]
No.T + 10.80 5.1 3.7 0.5 0.1
+ 20.00 9.2 51 5.10 46.9 3.7 3.70 34.0 0.5 0.50 4.6 0.1 0.10 0.9
+ 32.80 12.8 51 5.10 65.3 3.7 3.70 474 0.5 0.50 6.4 0.1 0.10 1.3
+ 32.80 0.0 51 5.10 0.0 34 3.55 0.0 0.5 0.50 0.0 0.1 0.10 0.0
+ 40.00 7.2 51 5.10 36.7 34 3.40 24.5 0.5 0.50 3.6 0.1 0.10 0.7
+ 60.00 20.0 4.8 4.95 99.0 34 3.40 68.0 0.5 0.50 10.0 0.1 0.10 20
+ 74.80 14.8 4.8 4.80 71.0 34 3.40 50.3 0.5 0.50 7.4 0.1 0.10 1.5
+ 74.80 0.0 3.6 4.20 0.0 1.6 2.50 0.0 0.4 0.45 0.0
+ 80.00 52 3.6 3.60 18.7 1.6 1.60 8.3 0.4 0.40 21
+ 92.70 12.7 3.6 3.60 45.7 1.6 1.60 20.3 0.4 0.40 51
No.2 +(BOC.>6§) 7.3 3.5 3.55 25.9 1.6 1.60 11.7 0.4 0.40 29
+ 18.50 18.5 25 3.00 55.5 1.0 1.30 241 0.4 0.40 7.4
+ (?gg(%) 0.0 3.9 3.20 0.0 2.6 1.80 0.0 0.5 0.45 0.0
+ (gtl):)(;(%) 1.5 3.9 3.90 59 2.6 2.60 3.9 0.5 0.50 0.8
+ 40.00 20.0 3.8 3.85 77.0 25 2.55 51.0 0.5 0.50 10.0
+ 4430 4.3 3.8 3.80 16.3 25 2.50 10.8 0.5 0.50 22
+ (EGCgS) 22 3.8 3.80 8.4 25 2.50 55 0.5 0.50 1.1
+ 46.50 0.0 4.3 4.05 0.0 29 2.70 0.0 0.5 0.50 0.0
+ 47.80 1.3 4.3 4.30 5.6 29 2.90 3.8 0.5 0.50 0.7
+ 60.00 12.2 4.3 4.30 52.5 29 2.90 354 0.5 0.50 6.1
N =t 1492 630.4 399.0 704 6.4




ol = g i
R No.2
RHEY HBRL GRAL) HRL GRAL) BEdE RS+
A = XMEEEE| B m | F H| B @B m|F B | @B @E|F D8 @8 @E|F Y| E
W m W m W m W m
+ 68.40 84 33 405 340 25 2.70 22.7 05 050 42
+ 73.00 46 3.8 3.80 17.5 25 2.50 11.5 05 0.50 2.3
+ 80.00 7.0 43 4.05 284 2.8 2.65 18.6 05 0.50 3.5 0.1
+ (98.3()) 18.3 43 430 78.7 2.7 2.75 50.3 05 0.50 9.2 0.1 0.10 1.8
EC3
No.3 + 0.00 1.7 43 430 7.3 2.7 2.70 46 05 0.50 0.9 0.1 0.10 0.2
+ 12.70 12.7 43 430 54.6 2.7 2.70 34.3 05 0.50 6.4 0.1 0.10 1.3
= 52.7 2205 1420 265 33
/N ET
&5t 2019 850.9 541.0 96.9 9.7
AR




ol = g i
L No.3
RHEY HBRL GRAL) HBRL GREAL) BEdE RS+
A = XMEEEE| B m | F H| B @B m|F B | @B @E|F D8 @8 @E|F Y| E
W m W m W m W m
No.2 + 685 04 02
+ 730 450 0.4 0.40 1.8 0.2 0.20 0.9
(SP-3)
+ 80.00 7.00 0.4 0.40 2.8 0.2 0.20 14
+ 98.30 18.30 0.7 0.55 10.1 0.2 0.20 3.7 0.2 0.1
No.3 + 0.00 1.70 0.7 0.70 1.2 0.2 0.20 0.3 0.2 0.20 0.3 0.1 0.10 0.2
+ 12.70 12.70 0.7 0.70 8.9 0.2 0.20 25 0.2 0.20 25 0.1 0.10 1.3
+ 18.00 5.30 0.7 0.70 3.7 0.2 0.20 1.1 0.2 0.20 1.1 0.1 0.10 05
495 285 99 3.9 20




w8 3 =
R No.4
AR AR AR
A = XFEEEE| 18 B + ii] O
g 8
No.T + 10.80 1.60
+ 20.00 9.2 1.60 1.60 14.7
+ 40.00 20.0 1.60 1.60 32.0
+ 60.00 20.0 1.50 1.55 31.0
+ 80.00 20.0 1.00 1.25 250
+ 92.70 12.7 1.00 1.00 12.7
(BC-2)
No.2 + 0.00 7.3 1.00 1.00 7.3
+ 18.50 18.5 0.70 0.85 15.7
(SP-2)
+ 20.00 1.5 1.10 0.90 14
+ 40.00 20.0 1.10 1.10 220
+ 44.30 43 1.20 1.15 49
(EC-2)
+ 47.80 3.5 1.40 1.30 46
(BC-3)
+ 60.00 12.2 1.40 1.40 171
+ 73.00 13.0 1.20 1.30 16.9
+ 80.00 7.0 1.30 1.25 8.8
+ 98.30 18.3 1.20 1.25 229
(EC-3)
No.3 + 0.00 1.7 1.20 1.20 20
+ 12.70 12.7 0.90 1.05 13.3
N 2019 2523
A =}




w8 3 =
L No.5
AR AR AR
A = XFEEEE| 18 B + ii] O
g 8

No.2 + 67.30 T.00
+ 68.40 1.1 1.00 1.00 1.1
+ 68.40 0.0 0.40 0.70 0.0
+ 73.00 46 0.30 0.35 1.6

(SP-3)
+ 80.00 7.0 0.30 0.30 2.1
+ 95.00 15.0 0.30 0.30 45
+ 95.00 0.0 0.10 0.20 0.0
+ 98.30 3.3 0.10 0.10 0.3
(EC-3)

No.3 + 0.00 1.7 0.10 0.10 0.2
+ 11.90 11.9 0.10 0.10 1.2
+ 13.20 1.3 0.20 0.15 0.2
+ 14.40 1.2 0.70 0.45 05
+ 17.90 3.5 1.00 0.85 3.0
& & 50.6 14.7




oo = =
R No.6
BNEE o =
A R |XFEHEESE B F ig F e B|F ig EOFE
g 8 g 8
No.T + 10.80 2.70 2.70
+ 20.00 92| 270 270 248[ 270 270 248
+ 40.00 200| 270 270 540[ 270 270 540
+ 60.00 200| 270 270 540[ 270 270 540
+ 74.80 148 270 270 400| 270 270| 400
+ 74.80 00[ 210 240 00 210 240 0.0
+ 80.00 52| 210 210 109[ 210| 210 109
+ 92.70 127 270 210 267 210 210 26.7
(BC-2)
No.2 + 0.00 73| 210 210| 153 210 210[ 153
+ 18.50 185 180 195 361 180 195| 36.1
(SP-2)
+ 18.50 00[ 240 210 00[ 240 210 0.0
(SP-2)
+ 20.00 15 240 240 36| 240 240 3.6
+ 40.00 200| 240 240 480[ 240 240 480
+ 44.30 431 240 240 103 240 240 103
(EC-2)
+ 46.50 22| 240 240 53| 240 240 5.3
+ 46.50 00[ 250 245 00[ 250 245 0.0
+ 47.80 13 250 250 33| 250 250 3.3
(BC-3)
+ 56.50 87| 250 250 218[ 250| 250 218
+ 56.50 00[ 230 240 00[ 230 240 0.0
+ 58.70 22| 230 230 5.1 230 230 5.1
I =t 1479 3590.2 3590.2




R No.7

BNEE o =

A R |XFEHEESE B F ig F e B|F ig EOFE
g 8 g 8

+ 60.00 13 250 250 33| 250 250 3.3

+ 73.00 130 240 245 319| 240 245| 319

(SP-3)

+ 80.00 70| 250 245 172 250 245 172

+ 08.30 183 250 250 458| 250 250| 458

No.3 + 0.00 17 250 250 43 250 250 43

+

12.70 12.7 2.50 2.50 31.8 2.50 2.50 31.8

N 54.0 1343 1343

201.9 493.5 493.5

op
anl
—+




] = g =
L No.8
BNEE T ERAE ==
A = |RMEEHE & F ig F e B|F ig F OHE B|F ig EOFE
g 8 g 8 g 8
No.2 + 6/.30 1.00 1.00 1.00
+ 67.60 03[ 100 1.00 03[ 100[ 1.00 03[ 100| 1.00 0.3
+ 67.60 00[ 030 065 00[ 030 065 00[ 030 065 0.0
+ (73.00) 54| 030 030 16 030] 0.30 16 030] 0.30 16
SP-3
+ 80.00 70| 030 0.30 2.1 0.30 | 0.30 2.1 0.30 | 0.30 2.1
+ (98.30) 183 030] 0.30 55| 030 030 55| 030 030 55
EC-3
No.3 + 0.00 17 030] 0.30 05[] 030 030 05[] 030 030 0.5
+ 14.40 144 030] 0.30 431 030 030 431 030 030 43
+ 17.90 35| 030 030 11 0.30 | 0.30 11 0.30 | 0.30 11
N =t 50.6 15.4 15.4 15.4




